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Section : Section I, QO8_ENG_S10_PM112

Question ID:- 8

In the following question, some parts of the sentence may have errors. Find out which part
of the sentence has an error and select the appropriate option. If a sentence is free from
error, select No Error.

In the years to come, Chawla would eventually become completely blind, and much the
same fate awaits for Romero.

Options:-

In the years to come,

, Option ID :- 29,

Chawla would eventually become
completely blind,

, Option ID :- 30,

| |
and much the same fate awaits for
Romero.

, Option ID :- 31,

Mo Error

, Option ID :- 32,

Answer Given by Candidate:- Not Attempted
Correct Answer :-
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and much the same fate awaits for
Romero.

Option ID :- 31

Section : Section I, Q02_ENG_S10_PM112
Question ID:- 2

Select the word which means the same as the group of words given.

Violation or misuse of what is regarded as sacred

Options:-

Sacrilege

, Option ID :- 5,

Sinecure

, Option ID :- 6,

Panacea

, Option ID :- 7,

Indelible

, Option ID :- 8,
Answer Given by Candidate:-
Indelible
, Option ID : -8
Correct Answer :-
Sacrilege

Option ID :- 5

Section : Section I, QO5_ENG_S10_PM112

Question ID:- 5
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select the correctly spelt word.

Options:-

Experienses

, Option ID :- 17,

Institutionalsed

, Option ID :- 18,

Immersive

, Option ID :- 19,

Tremandous

, Option ID :- 20,

Answer Given by Candidate:-
Tremandous

, Option ID : -20

Correct Answer :-
Immersive

Option ID :- 19

Section : Section I, Q04_ENG_S10_PM112
Question ID:- 4
In the following question, find out which word |s spelled Incorrecty:

Options:-

Unaware
, Option ID :- 13,
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||
Symptomatec

, Option ID :- 14,

Generosity

, Option ID :- 15,

Curious
, Option ID :- 16,

Answer Given by Candidate:-
Generosity

, Option ID : -15
Correct Answer :-
Symptomatec

Option ID :- 14

Section : Section I, Q0O3_ENG_S10_PM112

Question ID:- 3

Select the carrectly spelt word.

Options:-

Compeling
, Option ID :- 9,

Esciasy
, Option ID :- 10,

| |
Unrravel

, Option ID :- 11,
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Equilibrium
, Option ID :- 12,
Answer Given by Candidate:-
Unrravel

, Option ID : -11
Correct Answer :-
Equilibrium

Option ID :- 12

Section : Section I, Q07_ENG_S10_PM112

Question ID:- 7

In the below guestion, four seniences are given, which when properly arranged, make up a paragraph.
Rearrange the given sentences, and choose the option that provides the correct final order.,

P. But now a chance acquaintance, talking of college life, showed him how meagre his learning was.
Q. He began to think and wonder about things that he had never considered before,

R. At last his new thirst for knowledge led him to ask his father for more schooling.

5. Well content with such a life, Nathaniel Greene reached the age of fourteen.

Options:-

SPQR
, Option ID :- 25,
QPRS
, Option ID :- 26,

SQRP

, Option ID :- 27,

QSRP

, Option ID :- 28,

Answer Given by Candidate:-
SPQR

, Option ID : -25

Correct Answer :-
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SPQR
Option ID :- 25

Section : Section I, QO1_ENG_S10_PM112

Question ID:- 1

Read the following passage carefully and answer the question that follow:

The campaign is the period when the political parties put forward their candidates and arguments with
which they hope to persuade people to vote for their candidates and parties. Candidates are given a week
to put forward their nominations. These are scrutinised by the Returning Officers and if not found to be iIn
order can be rejected afier a summary hearing. Validly nominated candidates can withdraw within two
days afier nominations have been scrutinised. The official campaign lasis at least two weeks from the
drawing up of the list of nominated candidates, and officially ends 48 hours before polling closes.

During the election campaign, the political parties and contesting candidates are expected to abide by a
Model Code of Conduct evolved by the Election Commission on the basis of a consensus among political
parties. The model code lays down broad guidelines as to how the political parties and candidates should
conduct themselves during the election campalgn. It is Intended to maintain the election campaign on
healthy lines, avoid clashes and conflicts between paolitical parties or their supporters and to ensure peace
and order during the campaign period and thereafter, untll the results are declared. The model code also
prescribes guidelines for the ruling party either at the Centre or in the state to ensure that a level field is
maintained and that no cause is given for any complaint that the ruling party has used its official position
for the purposes of its election campaign.

Once an election has been called, parties issue manifesios detalling the programmes they wish to
implement if elected to government, the strengths of their leaders, and the failures of opposing parties and
their leaders. Slogans are used to popularise and identify parties and issues, and pamphlets and posters
distributed to the electorate. Personal appeals and promises of reform are made, with candidates
travelling the length and breadth of the constituency to try to influence as many potential supporters as
possible.

Which of the following statements Is incorrect according io the given passage?

Options:-

| |

During the election campaign, the political
parties and contesting candidates are
expected to abide by a Model Code of
Conduct.

, Option ID :- 1,

| |

Slogans are used o popularise and identify
parties and issues during the election
campaigns

, Option ID :- 2,
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Candidates are given a week's time to put
forward their nominations

, Option ID :- 3,

| |

The nominated candidates can withdraw
within twenty days after nominations have
been scrutinised

, Option ID :- 4,

Answer Given by Candidate:-
Slogans are used to popularise and identify
parties and issues during the election
campaigns

, Option ID : -2

Correct Answer :-

The nominated candidates can withdraw

within twenty days after nominations have
been scrutinised

Option ID :- 4

Section : Section I, Q10_ENG_S10_PM112

Question ID:- 10

In the following question, a sentence has been given in Active/Passive voice. Out of the four
alternatives suggested, select the one which best expresses the same sentence in
Fassive/Active voice.

Let me clean this maple-wood flooring for the visiting guestis.

Options:-

Let us clean this maple-wood floaring for
the visiting guests.

, Option ID :- 37,

Maple-wood flooring for the visiting guesis
to being cleaned by me.

, Option ID :- 38,
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Let this maple-wood flooring be cleaned by
me for the visiting guests.

, Option ID :- 39,

| |
Let| clean this maple-wood flooring for the
visiting guesis.

, Option ID :- 40,
Answer Given by Candidate:-

Maple-wood flooring for the visiting guests
to being cleaned by me.

, Option ID : -38
Correct Answer :-

Let this maple-wood flooring be cleaned by
me for the visiting guests.

Option ID :- 39

Section : Section I, QO6_ENG_S10_PM112

Question ID:- 6

In the below guestion, four sentences are given, which when properly arranged, make up a paragraph.
Rearrange the given sentences, and choose the option that provides the correct final order.

P: It's commaonly believed that leaders need to be gregarious.

(}; But this depends - among ather things, on the personalities of their employees.

R: One 2011 study showed that in branches of a pizza chain where employees were more passive,
extroverted bosses were associated with higher profits.

5: But in branches where employees were more proactive, introverted leaders were maore effective.

Options:-

QSRP
, Option ID :- 21,

RSPQ
, Option ID :- 22,

SPRQ
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, Option ID :- 23,

PQRS

, Option ID :- 24,

Answer Given by Candidate:-
RSPQ

, Option ID : -22

Correct Answer :-

PQRS

Option ID :- 24

Section : Section I, Q09_ENG_S10_PM112
Question ID:- 9

Find the most appropriate option for the given blank space which can make the given
sentence grammatically and contextually correct.

We don't need tactics for marketing.

Options:-

u
almuse

, Option ID :- 33,

annoy

, Option ID :- 34,

brightly

, Option ID :- 35,
aggressive

, Option ID :- 36,

Answer Given by Candidate:-
dimuse

, Option ID : -33
Correct Answer :-
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aggressive

Option ID :- 36

Section : Section I, QO5_EGA_S10_PM112

Question ID:- 145

Which of the following institutions publishes the Financial Stability Report?

FRRYS FrRIQ 676 299 21t Hosl Seals gad aad?

Options:-

Reserve Bank of India / G166 Suie 2 @&
, Option ID :- 577,

Ministry of Finance / ZiIgl¥ ElgliRed
, Option ID :- 578,

| |
Securities and Exchange Board of India | &lI%1E1%
SR8 geRE 6aW

, Option ID :- 579,

| |

Mational Bank for Agriculture and Rural

Development / @YI9Rim TUler POl Jolames 216

Dol cFEmdetleh
, Option ID :- 580,
Answer Given by Candidate:- Not Attempted
Correct Answer :-

Reserve Bank of India / 38% QYIS aer @E e

Option ID :- 577

Section : Section I, QO1_EGA_S10_PM112

Question ID:- 141
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When was the Scheduled Casfe and Scheduled Tribes prevention of atrocities act
passed?

ewel dgien Bg9Re FIE 99° 2995 ReaEe OF AsYISIR FRIRed ARG 2I9e
FUADIRI?

Options:-

1992
, Option ID :- 561,

1991
, Option ID :- 562,

1940
, Option ID :- 563,

1989

, Option ID :- 564,

Answer Given by Candidate:-
1989

, Option ID : -564

Correct Answer :-

1989

Option ID :- 564

Section : Section I, Q04_EGA_S10_PM112

Question ID:- 144

Education Is for achieving full human potential, building an equitable and
just society, and supporting national development.

&8l 1099 294 806 2I9R /A9 AR, 97 968! 99° age AR AGFR AR REY
Qg dinl B AIRIE FRI969 92iel ain [

Options:-
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Critical / 9128494
, Option ID :- 573,

Legitimate / 652
, Option ID :- 574,

Fundamental / 66158
, Option ID :- 575,

indispensable / 2QRgIKY

, Option ID :- 576,

Answer Given by Candidate:-
Legitimate / 652

, Option ID : -574

Correct Answer :-

Fundamental / 61RS

Option ID :- 575

Section : Section I, QO3_EGA_S10_PM112
Question ID:- 143

Which of the following Commission recommended for religious education?

FARGe AY 6RE F0ER ddEEe d8I1 O 9B *BmI?

Options:-

Revenue commission / SI894 87168
, Option ID :- 569,

| |
Hartog Commission / 2166151 GC18G
, Option ID :- 570,
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Radhakrishnan Commission / QRIIGES GE1€6

, Option ID :- 571,

Yashpal Commission / 28R 8566
, Option ID :- 572,

Answer Given by Candidate:-
Radhakrishnan Commission / QIMIGEE GE1€F

, Option ID : -571

Correct Answer :-
Radhakrishnan Commission / QRIIGES GE1€6

Option ID :- 571

Section : Section I, Q02_EGA_S10_PM112
Question ID:- 142

Which reactions represent following energy level diagram:-

FORge AU 694 gRgal GYea TUIKIGESl 48 29 608ITg
Fi61 99919 GG

Hrocluces
-
. Ensrg y absorbed 4
E ; '
= " .-'I "
= s ) A
b= iy /
= L "\‘ I;"
= /
= F
= F 4
F
Heactants “"’r
Progroess of reaction

Options:-
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Decomposition Reaction / 86199 &gl
, Option ID :- 565,

| |
Exothermic Reaction / @19Y81218 9858
, Option ID :- 566,

Endothermic Reaction [ 2188@I1E18 Q8 5E
, Option ID :- 567,

Redox Reaction / 2&I9¢ 98G
, Option ID :- 568,
Answer Given by Candidate:- Not Attempted

Correct Answer :-
Endothermic Reaction / 838191 985E

Option ID :- 567

Section : Section I, Q0O6_REAS_S10_PM112

Question ID:- 146

In the following letter series, some of the letters are missing. Choose the correct
alternative to complete the below given series:

c__bbb___ abbbb__ abbb

PORYC 280 644165, 6360 280 HIR A28 | BYen FARIReS 644 984 69! ain
907 985 SI8g:

c__bbb____ abbbb__ abbb _

Options:-

| |
abcch

, Option ID :- 581,

bbach
, Option ID :- 582,
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CcCacd

, Option ID :- 583,

abcba

, Option ID :- 584,

Answer Given by Candidate:-
abcch

, Option ID : -581

Correct Answer :-

abcch

Option ID :- 581

Section : Section I, Q09_REAS_S10_PM112

Question ID:- 149

Select the related number from the given alternatives:
243 : 512 27 : 1000
GRILIDZS| AE09Ew Fg 9RFEe 9°HYl SHE K9E:

43512 :: 7 1000

Options:-

729
, Option ID :- 593,

625
, Option ID :- 594,
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B16

, Option ID :- 595,

509

, Option ID :- 596,

Answer Given by Candidate:-
729

, Option ID : -593

Correct Answer :-
729

Option ID :- 593

Section : Section I, Q0O7_REAS_S10_PM112
Question ID:- 147
Arrange the given words in the sequence in which they occur in the dictionary.

|.Xenoblast
2.Xenophile
d.Xenosaurus
4 Xeronema
5.Xenophobe

GE6R QRITImRF 99EY €19 6RIN6T 639EF QUG §H6R ARIT GG

I.Xencblast
2.Xenophile
3. Xenosaurus
4 Xeronema
5.Xenophobe

Options:-

1,5.2,3.4
, Option ID :- 585,

1,2,34.5
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, Option ID :- 586,

1,2, 5,4,3
, Option ID :- 587,

12,534
, Option ID :- 588,

Answer Given by Candidate:-
1,5.2,34

, Option ID : -585

Correct Answer :-
12,534

Option ID :- 588

Section : Section I, QO8_REAS_S10_PM112

Question ID:- 148

How many odd numbers are there in the given below arrangement each of which is
immediately preceded by a vowel and immediately followed by a consonant?

APEAGTISUICVIRTESRIGKUTESF2A3E

PERYE FUSLIED 696815 2AY 2 4R O] g5 691Ed 999 ad 99° 66 6513 S4YBE
o4 a@a?

AEAGTSUICVETESRIBKUTESF2A3B

Options:-

1
, Option ID :- 589,

2
, Option ID :- 590,

3
, Option ID :- 591,
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More than 3 / 39 2w

, Option ID :- 592,
Answer Given by Candidate:-
More than 3 / 39 2w

, Option ID : -592

Correct Answer :-
More than 3 / 39 2w

Option ID :- 592

Section : Section I, Q10_REAS_S10_PM112

Question ID:- 150

In the question below there are three statements followed by two conclusions | and I,
Youhave to take the three given statements to be true even if they seem to be at
variance from commaonly known facts and then decide which of the given conclusions
logically follows fromthe three statements disregarding commaonly known facts.
Statemenis:

Every laptop is computer.

65% computers are keyboards.

Mone of the keyboards are monitars.

Conclusions:

l. Some Computers are keyboards.

Il. No computers are maonitors.

fe6a TR 9950 66017 929 CRIAIRR 99° 81T J66 63 R ad°gis |
49° || 9°8ll 92 550 RA IR | 956 CUORES f95YR Q19T AF4I fea Qidiay
QEeIF| U8 F6REY GaIT A1 TRIAIRR| B6RIT 9891g 984 GIFEE F9I8 /g 18° CIgl
Q6% 56 oG 66 CAITIDT RS IgER IR 6REE SRILIRYS 9R5Yg RaS
BITES 2gERE GRR

eRMNYLS:

et MIgsY f4ee 6l |

65% @I FI6TIE 621D 2N|

A4S R169IC 62ImAN AFES

QUL LINGE:

. 65607 FAUTY FERIE 6Ll

. 6REET FEUED 6Ll ATSS |

Options:-
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Only conclusion | follows / 6997 8d9°2I49 |
clgaR6l @tsl

, Option ID :- 597,

| |
Only conclusion |l follows / 68%9'% Q25
g oIl FE5

, Option ID :- 598,

| |

Meither conclusion | nor conclusion |l follows |
ROL°LIR | G AL LI || 6FIATT AFATE FET
qIg
, Option ID :- 599,

| |
Both conclusion | and conclusion |l follow / Slwl6El
WYL LR | 99" || dgdRld] @6R

, Option ID :- 600,

Answer Given by Candidate:-
Only conclusion |l follows / 68%9'% QE°@IBL I
2l oIl FE5

, Option ID : -598

Correct Answer :-
Only conclusion | follows / 689%F Sd9 QG |
elgaes Res

Option ID :- 597

Section : Section I, QO1_TA_S10_PM112
Question ID:- 151

Which of the following is a characteristic of an adult learner with regard to his emotional
development?

GORgS AT 6R6F 564 91999e d8iiaa Isae G71d a56gasa Iv 6Tasy
GEIT2Ig?

Options:-
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Unable to make emotionally correct decision. /
PI695 GRY 907 GYE 69319 A8
, Option ID :- 601,

| |
Does not understand ideas and facts through proper
reasoning. / dISEI 957 G94IF 999 9F 926 588
RIZ|

, Option ID :- 602,

| |
The learning process helps them in the development
of their emotional instincts. / 98 daiGie g

EAFIGE FATIGEE ZEACR Ugng 939166 Ay
eGal

, Option ID :- 603,

None of these / 9987 F1G 651685 g6€

, Option ID :- 604,

Answer Given by Candidate:-
None of these / 4987 C1Ug 6216185 g62

, Option ID : -604

Correct Answer :-
The learning process helps them in the development
of their emotional instincts. / 4% daiRia &

BAFlGE SARIGEE BleRdn EiReg 9E9Ies ALy
il

Option ID :- 603

Section : Section I, Q02_TA_S10_PM112

Question ID:- 152

Which of the following is/are teaching approaches?

GERYEgER R 6a6 SICie By seimelg?

Options:-
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Teacher-Centered Approach / S8 - 68369 T2
, Option ID :- 605,

Child-Centered Approach / 81§ - 656 & Tl
, Option ID :- 606,

Democratic Approach / SESIZE 2
, Option ID :- 607,

All of these / BId6RIT DE19

, Option ID :- 608,

Answer Given by Candidate:-
Child-Centered Approach | 81§ - 656& T

, Option ID : -606

Correct Answer :-
All of these / Bd60IR TF19D

Option ID :- 608

Section : Section I, Q10_TA_S10_PM112

Question ID:- 160

What should you do when you find your students are stressed? Choose the most
appropriate answer from the following options.

6E6L6R6R 2ITde RISRIg! 91094 62In 8IS 6L EE 2T 7'd ROTl 697 BYes
CRIDIRET SE0GER FrIQ 9900 e 99y 387 SIRg!

Options:-

Recognizing stress in leamers / Aaldie 68855 91
225 Foial
, Option ID :- 637,

Identifying the causes /[ AISEIGER 595 /A%
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, Option ID :- 638,

|
Recognizing stress in learners and ldentifying the causes
| @fiiar 6RS6R §19 §9F A8T 99° I2Ia FI54 &4
@iéial

, Option ID :- 639,

None of these / 958 FItIg 61985 gee
, Option ID :- 640,

Answer Given by Candidate:-
Recognizing stress inlearners and ldentifying the causes
| Gaieha 6AE6R 918 B9C 2851 99° YTIR B84 K4
RIEE|

, Option ID : -639

Correct Answer :-
Recognizing stress inlearners and ldentifying the causes
| G8iehar 6R869 919 990 o9 95° 9gie BI54d @4
RG]

Option ID :- 639

Section : Section I, Q08_TA_S10_PM112

Question ID:- 158
Which of the following teaching methods is MOST associated with constructivism?

FERgS ALg 6T6 GAICe 088 98 FISlea F0eaRT BsTaY 998 5867

Options:-

Direct instruction / 9948 64 ISR
, Option ID :- 629,

Lecture | WISE
, Option ID :- 630,

Inquiry-based learning / Zg98IREES ARG
, Option ID :- 631,
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Scripted lesson plans / ﬁﬁ@ ikl 6

, Option ID :- 632,

Answer Given by Candidate:-
Lecture / wIHd

, Option ID : -630

Correct Answer :-

Inquiry-based learning / 2y 9819 wET cl&lmiw

Option ID :- 631

Section : Section I, Q09_TA_S10_PM112
Question ID:- 159
Fill in the blank with an appropriate option:

In the current scenario, teachers have to increasingly play the role of
crucial through whom curriculum is transacted.

QDS 599 926 974 9IF 994 Kag:

AR QEUETES, SARAIGE R Y7 Saedgd o GER FRlgsn
QlReY 98 QIe8, dIgiw AT QI0Yge 9816 62Im2ld|

Options:-

yoga expert | 6215 G649H
, Option ID :- 633,

mediating agents / FIUELIRIB1 6@
, Option ID :- 634,

hawkers | 235
, Option ID :- 635,

flowerist / fmiml
, Option ID :- 636,
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Answer Given by Candidate:-
mediating agents / FIUE R 60Hel

, Option ID : -634

Correct Answer :-
mediating agents / FIRIELIFIG1 d6@ad

Option ID :- 634

Section : Section I, Q04_TA_S10_PM112

Question ID:- 154

Which of the following is/are a type(s) of 'Deprived Children'?
GEmSIE M 6RED/GER HE6LRe d9'9 9% OIS (5Ea)?

Options:-

Socially successful children. / SIS GEG AR &4
, Option ID :- 613,

Economically successiul children. / zida QEG QR 84
, Option ID :- 614,

Children of Scheduled castes and tribes. [ 2Ig956 &I
49° Ag95e GRRIED Sl

, Option ID :- 615,

Middle class children. / CIIG& S6i9 &g
, Option ID :- 616,
Answer Given by Candidate:- Not Attempted

Correct Answer :-
Children of Scheduled castes and tribes. | 2I§95% &IG
99° UGY9e GRRIER dg|

Option ID :- 615

Section : Section I, Q07_TA_S10_PM112
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Question ID:- 157

Which type of learning tasks should not be given to children with low 1Q's and intellectual
disabilities?

@F BIagy ¥e° 6009 GRAne adgel Agaeg 69d geIRd dATe aidy SaRel Bgoe?

Options:-

Very simple tasks / 21348 997 SIH4987
, Option ID :- 625,

High-level tasks / % -996 /ldYges
, Option ID :- 626,

Complicated tasks / 557 SIHY9ER
, Option ID :- 627,

None of these / 9989 F1UQ 651985 62
, Option ID :- 628,

Answer Given by Candidate:-
None of these / 9987 TG 651885 g62

, Option ID : -628

Correct Answer :-
Complicated tasks / 557 FIHYgEs

Option ID :- 627

Section : Section I, QO5_TA_S10_PM112

Question ID:- 155

In which of the following countries was the UNESCO Conference on Early Childhood
Care and Education held in Nov 20227

FANYCIET F1HIQ 6FE 60H60 RERIAG 202268 6A4IS A9QI69 2 6 S8 TS
G662 ARF1 2N6UTS CLITYRI?
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Options:-

France / Wl
, Option ID :- 617,

India / SRS
, Option ID :- 618,

Turkey / §&1
, Option ID :- 619,

Uzbekistan /| BG62@LIe
, Option ID :- 620,
Answer Given by Candidate:- Not Attempted

Correct Answer :-
Uzbekistan / GR6S@QI0

Option ID :- 620

Section : Section I, Q0O3_TA_S10_PM112

Question ID:- 153
Which of the following is a feature of inclusive education?

GRS FIG 6565 REGREN YG659E ol 98I0 97 6TARY 62IR2lM?

Options:-

Children are discouraged from achieving their fullest
potential. / ORICIGE 62AIGTS E]Gj_@ HHw| LIl
RSl IR FR2I@e aaua|

, Option ID :- 609,

Mot providing support to students and teachers. /
2ISRIG! 99° daeg 9291261 9918 @ 89|

, Option ID :- 610,
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Children need to have the same education goal. f
IRIIeEa 906 48 May a9 21Eg |

, Option ID :- 611,

Accepting unconditionally all children into regular
classes. / Gdqcn 9628 ddg G00E 6d916a 219IQ
weral |
, Option ID :- 612,
Answer Given by Candidate:-
Accepting unconditionally all children into regular
classes. / aasa 908 dds Fafe cgdaen 919IQ
gl |
, Option ID : -612
Correct Answer :-
Accepting unconditionally all children into regular
classes. / A6E0 @02 ddg Gofe cgden 21910
gl |

Option ID :- 612

Section : Section I, Q06_TA_S10_PM112

Question ID:- 156

Which of the following is/are emerging functions, a category of educational functions?

FORYE PG 6965 626R I8 Ae1RaIe FIdY, 81 game fidin 98 e6l?

Options:-

| |
Character Education / 21565 &8
, Option ID :- 621,

Teaching Basic Skills and Vocational Education / 66155
QAT 49° MRIGRT 8l d31aS

, Option ID :- 622,

https://scert15sep2024rs.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=f2e6¢4b7-f401-4c4c-ac5c-3b30b096e51d&Rollino=609236D97A0A417 ...
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Transmitting traditional culture / 2I9#3% 9°LE3 9919
g4ia g8l

, Option ID :- 623,

|
Development of cosmopolitan outlook / R6ITRSIF G
Q8E9Ie QREFIR IRl

, Option ID :- 624,

Answer Given by Candidate:-
Teaching Basic Skllls and Vocational Education / 651155
Qael 99° dRINRS 44l Jsas

, Option ID : -622

Correct Answer :-
Development of cosmopolitan outlook / R6ZIURTIE 9
QEEIe QRREE IR

Option ID :- 624

Section : Section II, Q06_ODIA_S10_PM112

Question ID:- 16

‘ALE'D JOEL 267

Options:-

a0e
, Option ID :- 61,

A
, Option ID :- 62,

gl
, Option ID :- 63,

AR

https://scert15sep2024rs.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=f2e6¢4b7-f401-4c4c-ac5c-3b30b096e51d&Rolino=609236D97A0A417...  28/78



9/18/24, 12:33 PM Response Sheet
, Option ID :- 64,
Answer Given by Candidate:-
e
, Option ID : -63
Correct Answer :-
iafia
Option ID :- 63

Section : Section II, Q11_ODIA_S10_PM112

Question ID:- 21

‘QRAFL'D GE 67

Options:-

FougL
, Option ID :- 81,

QS
, Option ID :- 82,

QUSEA
, Option ID :- 83,

QU

, Option ID :- 84,

Answer Given by Candidate:- Not Attempted
Correct Answer :-

QU

Option ID :- 84

Section : Section II, Q08_ODIA_S10_PM112
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Question ID:- 18

< bl
do'R'le] 6RWS"/

, Option ID :- 69,

AU
, Option ID :- 70,

il
, Option ID :- 71,

ALITM

, Option ID :- 72,

Answer Given by Candidate:- Not Attempted
Correct Answer :-

CIEFIANER

Option ID :- 69

Section : Section II, Q05_ODIA_S10_PM112

Question ID:- 15
BRY 4F ARG AR 9 RIS 297

Options:-
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30O
, Option ID :- 57,

QI
, Option ID :- 58,

Qg
, Option ID :- 59,

ol

, Option ID :- 60,

Answer Given by Candidate:-
3O

, Option ID : -57

Correct Answer :-

30

Option ID :- 57

Section : Section II, Q03_ODIA_S10_PM112

Question ID:- 13

PRI 990 QUG &7

Options:-

BOL
, Option ID :- 49,

zg
, Option ID :- 50,
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6l
, Option ID :- 51,

@EI

, Option ID :- 52,

Answer Given by Candidate:-
6T

, Option ID : -51

Correct Answer :-
ediel

Option ID :- 51

Section : Section II, Q04_ODIA_S10_PM112

Question ID:- 14

YO DUUG 60 EREM 6RE 99 6297

Options:-

d|/e
, Option ID :- 53,

iaa)
, Option ID :- 54,

aala)
, Option ID :- 55,

ﬁﬂ@@

, Option ID :- 56,

Answer Given by Candidate:-
e inst

, Option ID : -56

Correct Answer :-
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URe
Option ID :- 53

Section : Section II, Q10_ODIA_S10_PM112

Question ID:- 20

VOL J93 FUAVNG F'E?

Options:-

deq
, Option ID :- 77,

&g
, Option ID :- 78,

QUL
, Option ID :- 79,

qI9%

, Option ID :- 80,

Answer Given by Candidate:-
&g

, Option ID : -78

Correct Answer :-

&g

Option ID :- 78

Section : Section II, Q12_ODIA_S10_PM112

Question ID:- 22
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2UY LELI'R 218l 629 -

Options:-

Qw3 G
, Option ID :- 85,

6@ Q9!
, Option ID :- 86,

A
, Option ID :- 87,

QO 62

, Option ID :- 88,

Answer Given by Candidate:-
Eaim OGR!

, Option ID : -86

Correct Answer :-

Ao

Option ID :- 87

Section : Section II, Q09_ODIA_S10_PM112

Question ID:- 19

Q'R DESAE K7

Options:-
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el
, Option ID :- 73,

Ela e
, Option ID :- 74,

SRS
, Option ID :- 75,

Elm @RI

, Option ID :- 76,

Answer Given by Candidate:-
2l

, Option ID : -73

Correct Answer :-

Clim

Option ID :- 74

Section : Section II, Q13_ODIA_S10_PM112

Question ID:- 23

DA TN 218 F'él -

Options:-

QEIAY LD

, Option ID :- 89,
WG UG 629

, Option ID :- 90,
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QEIRY QLTS
, Option ID :- 91,

@iy T

, Option ID :- 92,

Answer Given by Candidate:-
QRIS 2T

, Option ID : -89

Correct Answer :-

QEITY ARER

Option ID :- 91

Section : Section II, Q15_ODIA_S10_PM112

Question ID:- 25

‘oI @A 6QAIG 6210 608 90 62IRE?

Options:-

ZIENRIG
, Option ID :- 97,

2RE
, Option ID :- 98,

ENG@IeT
, Option ID :- 99,

2UCIROR
, Option ID :- 100,
Answer Given by Candidate:-
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2R
, Option ID : -98
Correct Answer :-
2lReg

Option ID :- 98

Section : Section II, Q07_ODIA_S10_PM112

Question ID:- 17
Q6T 600TRED A8R 09 UIGRI §UAC 6RVT?

Options:-

AN
, Option ID :- 65,

GRS
, Option ID :- 66,

og
, Option ID :- 67,

I

, Option ID :- 68,

Answer Given by Candidate:-
GIRG

, Option ID : -66

Correct Answer :-

I

Option ID :- 68

Section : Section II, Q0O1_ODIA_S10_PM112
Question ID:- 11
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PRI QT 679 SIREFENQ ARE?

Options:-

AR
, Option ID :- 41,

ERERER
, Option ID :- 42,

e
, Option ID :- 43,

FRGIS

, Option ID :- 44,

Answer Given by Candidate:-
AR

, Option ID : -41
Correct Answer :-
IR

Option ID :- 43

Section : Section II, Q02_ODIA_S10_PM112

Question ID:- 12

O QAR 4G 6R8 UG 6aEND7

Options:-

@y
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, Option ID :- 45,

ClEEY
, Option ID :- 46,

0QY
, Option ID :- 47,

BIRGY

, Option ID :- 48,

Answer Given by Candidate:-
GaY

, Option ID : -47

Correct Answer :-

G|y

Option ID :- 47

Section : Section II, Q14_ODIA_S10_PM112

‘QeI2 TEQI'R 218l @'6-

Options:-

FIR2 FEAGR
, Option ID :- 93,

2E PIQRe 629
, Option ID :- 94,
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0EG 629l
, Option ID :- 95,

Response Sheet

QRIGY TR

, Option ID :- 96,

Answer Given by Candidate:-
QIR FEAGR

, Option ID : -93
Correct Answer :-
Qg FEIAG

Option ID :- 93

Section : Section II, Q07_MATH_S10_PM112
Question ID:- 237

A lender lends certain amount of money to Anshu at the certain rate of interest. Anshu's amount doubles

in 5 years at simple interest, Find the simple interest on a principal of Rs. 2400 at same rate of interest
for a period of 4 years?

R64 DAQIE Poge AET I 216 GRS 0SAIEE BG T2 996 Qe 5 9t 2rge aId §98e
g9, 4 96 QI5 A1 P2 YINET Rs. 2400 7 FJFNE QU69 IRF ol 656 6297

Options:-

Rs. 1920

, Option ID :- 945,

Rs. 1840

, Option ID :- 946,

Rs. 1980

, Option ID :- 947,

Rs. 1760

, Option ID :- 948,

Answer Given by Candidate:- Not Attempted
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Correct Answer :-
Rs. 1920

Option ID :- 945

Section : Section II, Q04_MATH_S10_PM112

Question ID:- 234

What value will come in place of question mark (7) in the following question?
FERYS 9969 9959 (7) 9OR6R 675 gy 21897

127-289" + 16" =27

Options:-

129
, Option ID :- 933,

135
, Option ID :- 934,

123
, Option ID :- 935,

144
, Option ID :- 936,
Answer Given by Candidate:- Not Attempted

Correct Answer :-
129

Option ID :- 933

Section : Section II, Q11_MATH_S10_PM112

Question ID:- 241
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If a set A has 6 elements and set B has 4 elements, then the number of relations defined
from Ato B is:

AT 97 699 A 696 § RQICIF 28 99° 695 B 6814 § BOIGIE PR, 6665 AQB § Fa S
Afe 9°84l 6LRE:

Options:-

;15
, Option ID :- 961,

BE
, Option ID :- 962,

)

g
, Option ID :- 963,

g

, Option ID :- 964,

Answer Given by Candidate:- Not Attempted
Correct Answer :-

BB

Option ID :- 962

Section : Section II, Q06_MATH_S10_PM112

Question ID:- 236

Maohan marks up his items 20% above its cost price and gives a discount of 15% on It In
order to achieve higher profits, he cheats his customers by using weight of 950 grams
instead of Tkg. What is his net profitloss percentage?

6712E BlE BREG G4 FJRYOIQ 20% ZRIFEE 556 @08 99° 9265 15% BelE Qa8 ere
Al 2197 F59 QIR 69 1 kg 95966 950 GIF BRF SUSLIR /3 JIeRT 0R2IG) SIS
gE)QIek MIBVEIE ORdS 6R6S7

Options:-
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Profit of 5.2% / 5.2% @ RIS

, Option ID :- 941,

.

Profit of 17.5% / 17.5% % RI&
, Option ID :- 942,

Profit of 7.4% / 7.4% 9 RI&
, Option ID :- 943,

Profit of 9.2% /9.2% B fll%

, Option ID :- 944,
Answer Given by Candidate:- Not Attempted

Correct Answer :-
Profit of 7.4% | 7.4% 9 RIB

Option ID :- 943

Section : Section II, Q02_MATH_S10_PM112
Question ID:- 232

What value will come In place of guestion mark (7) in the following question?
GORYIe 965 995 (7) URER 659 gmy 21897

(13)* +(28)°- (36)" =7

Options:-

-361
, Option ID :- 925,

-355
, Option ID :- 926,
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-320
, Option ID :- 927,

-343
, Option ID :- 928,

Answer Given by Candidate:-
-343

, Option ID : -928

Correct Answer :-
-343

Option ID :- 928

Section : Section II, Q09_MATH_S10_PM112

Question ID:- 239

The sum of the ages of two siblings is 33 years, Four years ago, their ages were in the
ratio 3:2. What is the present age of the older sibling?

¢ BlReedis @Hge 908 33 od| 4 od 964 690le® QRE 3:2 A6 2RIl 29 BIREl
QBN TR 65687

Options:-

14 years/ 14 ed
, Option ID :- 953,

16 years / 16 od
, Option ID :- 954,

5 years/ 15 od
, Option ID :- 955,

19 years /19 od
, Option ID :- 956,
Answer Given by Candidate:- Not Attempted
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Correct Answer :-
9 years/ 19 od

Option ID :- 956

Response Sheet

Section : Section II, Q08_MATH_S10_PM112
Question ID:- 238

When the numerator is doubled and 7 is added to the denominator the fraction becomes
2/3 and when 3 is subtracted from both the numerator and the denominator the
fraction becomes 1/2, what is the fraction?

606P6T6R MSF T94% a4 95° €565 7 640 SoUIY 6A6RETER QEitaT 2/3 6LIRad 99°

6EEEERER 3 § AEIE AT 95° €065 SRIRS RAIFIG SH6EET6R BYITET 1/2 6QIRLN, 6069
@EPET 69687

Options:-

34
, Option ID :- 949,

4/5
, Option ID :- 950,

2/3
, Option ID :- 951,

516
, Option ID :- 952,

Answer Given by Candidate:-
2/3

, Option ID : -951

Correct Answer :-
4/5

Option ID :- 950

Section : Section II, Q0O3_MATH_S10_PM112

Question ID:- 233
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What value will come in place of question mark (7?) in the following question?

GORge 969 998% (?) 9oR6a 674 emy 21897
V2744 — V10648 — V5832 =7

Options:-

22
, Option ID :- 929,

-26
, Option ID :- 930,

-25
, Option ID :- 931,

-23
, Option ID :- 932,
Answer Given by Candidate:- Not Attempted

Correct Answer :-
-26

Option ID :- 930

Section : Section II, Q12_MATH_S10_PM112

Question ID:- 242

If PQ and RS are two lines intersecting at point O. A and B are two points on 00 and OS5
respectively, If APOR =62" and AOAB - 2:0OBA = 6", then which of the following is TRUE?

£E PQ 99° RS BF O 65 999513 680 891281 G2E 693l 21581 A B B £2Ig6¢ 0Q B 0S
QU6R 291 2 551 08 POR = 62° 95° LOAB - LOBA = 6°, 6669 FORNYE UG 656F
agy?

Options:-
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OA> 0B
, Option ID :- 965,

QA= AB
, Option ID :- 966,

OA=0B
, Option ID :- 967,

OB = AB

, Option ID :- 968,

Answer Given by Candidate:-
0A=> OB

, Option ID : -965

Correct Answer :-

OB = AB

Option ID :- 968

Section : Section II, Q10_MATH_S10_PM112

Question ID:- 240

Ravi is five times the age of his son, Aman. If after & years, Ravi would be four times the
age of Aman, then after 10 years, how many times would Ravl be of Aman's age?

Q& 9nid Bier 97 AFIF0IQ CIF 94 29| 2T 6 od C68 SRS SXE AFIR0I 4 F8 629,
6669 10 o8 965 AF AFee SAIR 6968 8 62697

Options:-

712 times / 7/2 948l
, Option ID :- 957,

25(7 times / 25/7 G4l
, Option ID :- 958,
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2.5 times / 2.5 94
, Option ID :- 959,

4 times / 4 g€l

, Option ID :- 960,

Answer Given by Candidate:-
712 times /[ 7/2 G4l

, Option ID : -957

Correct Answer :-
25(7 times [ 25/7 G4l

Option ID :- 958

Response Sheet

Section : Section II, Q15_MATH_S10_PM112

Question ID:- 245

If sides of triangle are 22 crm, 18 cm, and 30 cm, respectively, then what is the area and

perimeter of the triangle?

0 SHG IR QA6 22 cm, 18 cm B 30 cm, 666F SHAGN BASTR 6 O 6768

6997

Options:-

Area=8v3452 cm’, and Perimeter = 80 cm
GESEPR =8+3452 cm® 99° QREEI=80 cm

, Option ID :- 977,
| |
Area = 61563 e, and Perimeter = 75 cm
ESISEFR =6+(563 ) cm® 99° SRENEI=75 cm
, Option ID :- 978,

Area =5 1547 cw’. and Perimeter = 70 ¢m

GRS =54/(1547 ) cm* 98" QREF=70 cm
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, Option ID :- 979,

Area = 5v 2356 coy’, and Perimeter = 60 ¢m
CHSTR =5+(2356 ) cm” €9° JAEN=60 cm
, Option ID :- 980,
Answer Given by Candidate:-

Area=8v3452 cm’. and Perimeter = 80 cm
CESEPR =8+3452 cm® 99° QEI=80 cm

, Option ID : -977

Correct Answer :-

Area=5v1547 cm?, and Perimeter =70 cm
ERSEFR =5(1547 ) cm® \98° Q8EII=70 cm
Option ID :- 979

Section : Section II, QO5_MATH_S10_PM112

Question ID:- 235

Boys In class A are 28% maore than girls in that class and boys in class B are 80% of girls
in that class. If girls in both the classes are same, then boys in class A are what percent
more than boys in class BY

A GEENT BARIRE SRTISE 69T 68418 QAFIST 28% ZXS 99° B 68418 JAFIse 698
6E4N5 EFCIREE 60% FAGE | AT Qw9 8410 SRIQIER AEIT, 6865 A 68419 JEIFIGE B
GEENG QEFIGT GREISE 6265 R6E Ba?

Options:-

75%
, Option ID :- 937,

45%
, Option ID :- 938,

60%
, Option ID :- 939,
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30%
, Option ID :- 940,

Answer Given by Candidate:-
60%

, Option ID : -939

Correct Answer :-
60%

Option ID :- 939

Section : Section II, Q13_MATH_S10_PM112

Question ID:- 243

ABCD is a trapezium such that AB || CD and P and Q are mid-points on non-parallel sides.
If AB =11 cmand CD = 19 cm, then find the length of side PQ.

ABCD 6228 9% gis0Gae 629269 AB || CD 99° P 99° Q 24-26188IF dIden e 55
281 9T AB = 11 cm 98° CD = 19 cm, 6861 QIEld PQ & 6G4Y 9816 98|

Options:-

13.2 cm
, Option ID :- 969,

4.4 cm
, Option ID :- 970,

18 cm

, Option ID :- 971,

15 em
, Option ID :- 972,

Answer Given by Candidate:-
4.4 cm

, Option ID : -970
Correct Answer :-
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15 cm

Option ID :- 972

Section : Section II, Q14_MATH_S10_PM112

Question ID:- 244

In a circle AB is diameter and points C and D are on the circumference such that :CAD =
40° and «CBA = 60°. What is the value of 2ACD?

4% 9R6% AB 949 48° @5 C 99° D dok) K969 28 95 6895 2CAD = 40° 95°2CBA =
60° 2165 | ACD E)m4 68657

Options:-

20°
, Option ID :- 973,

30°
, Option ID :- 974,

40°
, Option ID :- 975,

50°

, Option ID :- 976,

Answer Given by Candidate:-
50°

, Option ID : -976

Correct Answer :-

20°

Option ID :- 973

Section : Section II, QO1_MATH_S10_PM112

Question ID:- 231
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H.C.F. of three numbers, which are in the ratio 3:4:5, is 8. So, what is LCM of three
numbers?

3:4:5 2gEICEa! 29| C6RIT G GlUIQl H.C.F. 6201 91 6669, G6QIT 9°64I6 LCM 63687

Options:-

270
, Option ID :- 921,

540
, Option ID :- 922,

480
, Option ID :- 923,

108

, Option ID :- 924,

Answer Given by Candidate:-
480

, Option ID : -923

Correct Answer :-

540

Option ID :- 922

Section : Section II, Q13_SS_S10_PM112

Question ID:- 38

How do green plants contribute to the carbon dioxide-oxygen balance in the
atmosphere?

Q98 AEIRYEe KSR PIFINRIE 2GR JgRe dinl RUR 6AISIRIS F2IE?

Options:-
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By releasing carbon dioxide and abseorbing oxygen /
ARFIRIE, TG 95 99° 2RI 68184 /5

, Option ID :- 149,

| |

By using carbon dioxide to make their food and
releasing oxygen / AFINFIE, FUSLID |5 F@ BIQY
GeIt e 99° gaeie Gde a5

, Option ID :- 150,

| |
By absorbing carbon dioxide and releasing nitrogen
| BFFIDRIC, 6488 K5 ASMISRIE T8 49

, Option ID :- 151,

By releasing oxygen and absorbing nitrogen /
2GRS G916 91 FINETIERE 64INE AR

, Option ID :- 152,

Answer Given by Candidate:-

By using carbon dioxide to make their food and
releasing oxygen / ZGFISRIFL FUSLID 90 FED SIQY
FaIR 98 99 2gaie Qde @

, Option ID : -150

Correct Answer :-

By using carbon dioxide to make their food and
releasing oxygen / ZGFISRIE, FUSLID 90 FED FIQY
FaIt 98 9e° 2gaie Qe @

Option ID :- 150

Section : Section II, Q12_SS_S10_PM112
Question ID:- 37

What term describes the movement of the Earth around the Sun?

gy 151d6% goIRIa oieg 696 SIR6a 9461 FoUNd?

Options:-

Rotation / 2l9&@
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, Option ID :- 145,

Revolution / @ ¢I€l
, Option ID :- 146,

Precession / 2155114
, Option ID :- 147,

Mutation / QERSEE

, Option ID :- 148,

Answer Given by Candidate:-
Revolution / /@14

, Option ID : -146
Correct Answer :-
Revolution / 9o1g 1€l

Option ID :- 146

Section : Section II, Q06_SS_S10_PM112

Question ID:- 31

Which political party in Britain committed to granting independence to India in 18457

F6900 696 SINERES OF 1945 69l GlReg TRIGS! 699 dinl JTAgE cameem?

Options:-

Conservative Party / Qi&8aldlm 9
, Option ID :- 121,

Labour Party / 951@ @f
, Option ID :- 122,

Liberal Party / Q@QIQQ11 @R
, Option ID :- 123,
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National Party / @Wl%1ck @

, Option ID :- 124,

Answer Given by Candidate:-
Liberal Party / QQI9191Q71 @

, Option ID : -123

Correct Answer :-

Labour Party / 9¢1@ @f

Option ID :- 122

Section : Section II, Q01_SS_S10_PM112

Question ID:- 26

In what year did Babur capture Kabul?

199 696 98 RIgA THUM FAYEM?

Options:-

1494
, Option ID :

101,

1504
, Option ID :

102,

1526
, Option ID :

103,

1530

, Option ID :- 104,

Answer Given by Candidate:-
1526
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, Option ID : -103

Correct Answer :-
1504

Option ID :- 102

Response Sheet

Section : Section II, Q05_SS_S10_PM112

Question ID:- 30
What was the primary characteristic of the Quit India Movement?

PR B¢ ACRIRED QIR CITLY 'Sl 27

Options:-

It was a limited, localized effort / 42| U S18G,
gleid delle] 2l

, Option ID :- 117,

It was a mass movement invelving large numbers of
ordinary Indians / %1 4§ @& 2I6RING 65]‘:138!66‘!
Qg L°HIEA IINE AT AFIM 6LIR2IEM

, Option ID :- 118,

It focused solely on economic reforms / 49| ERTH
2eleEeR 9°9Ie QE6R Ypied 6@l ml

, Option ID :- 119,

It was a nonviolent campaign with ne arrests / 4%
4 25°9 2RAIT AR 6DL265 698 TR
6LImGZ)em

, Option ID :- 120,

Answer Given by Candidate:-
It was a mass movement involving large numbers of
ordinary Indians / 4% 949 8% 2I6LIRS Ml SE]‘E&&E'JGEI
QL L°BHIER RIS KIS QITiM 6LIRRIEMm

, Option ID : -118
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Correct Answer :-
It was a mass movement involving large numbers of

ordinary Indians / 9€| 4@ W% 2I6KIRG gl EE]‘:}?E'AE‘BI
Q% A°HUIcE ARIIFE ARG AITM 6RID6M

Option ID :- 118

Section : Section II, Q08_SS_S10_PM112

Question ID:- 33

In which year were the Fundamental Duties of Citizens inserted into the Indian
Constitution?

RS FAIFER flTneE 66llne 269y 694 94 2s6le SUAITARI?

Options:-

1950
, Option ID :

129,

1966
, Option ID :

130,

1976
, Option ID :

131,

1982

, Option ID :- 132,

Answer Given by Candidate:-
1966

, Option ID : -130

Correct Answer :-

1976

Option ID :- 131

Section : Section II, Q02_SS_S10_PM112
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Question ID:- 27

In which year did Abu'l Fazl fall victim to a conspiracy and get murdered?

69a o 2A9m Fam 99 YTLGH Rl 6L1R YRR SRR 6RIRIEMm?

Options:-

1600
, Option ID :

105,

1601
, Option ID :

106,

1602
, Option ID :

107,

1603
, Option ID :- 108,
Answer Given by Candidate:- Not Attempted

Correct Answer :-
1602

Option ID :- 107

Section : Section II, Q04_SS_S10_PM112

Question ID:- 29

What global event occurred in September 13337

66 ElDl 1938 6 6R% QElALNG AT AFemi?

Options:-

The start of World War | / €211 S5/8 8 2o
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, Option ID :- 113,

The start of the Second World War / @16
G986 A0
, Option ID :- 114,

|

The signing of the Gandhi-Irwin Pact / SlI91-Q91Eq
g e

, Option ID :- 115,

The end of the Civil Discbedience Movement /
dima 2L 2IeRING 2%
, Option ID :- 116,
Answer Given by Candidate:-
The signing of the Gandhi-Irwin Pact / SlI@1-@51E%
7@ glEane
, Option ID : -115
Correct Answer :-
The start of the Second World War / $G18
@qq&*a cllled
Option ID :- 114

Section : Section II, Q09_SS_S10_ PM112
Question ID:- 34
How many Fundamental Duties were enumerated in the 42nd Amendment?

42 G6 A°EEIRIGES 696015 66lRa S&9Y I It g

Options:-

Eight / 2ll0
, Option ID :- 133,

Nine [/ ¢
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, Option ID :- 134,

Ten / Gdl
, Option ID :- 135,

Eleven / 43llol
, Option ID :- 136,

Answer Given by Candidate:-
Eleven / ¥%llol

, Option ID : -136

Correct Answer :-
Ten /! G4l

Option ID :- 135

Section : Section II, Q10_SS_S10_PM112

Question ID:- 35

What does Article 1(2) of the Indian Constitution specify?

QURSTR AANIFD IR 1(2)69 T8 ASRY OFR?

Options:-

The powers of the central government / 694
LoialoE Seie!

, Option ID :- 137,

The states and territories are specified in the First
Schedule / gei¢] 290160 @Y B LelIges )
FULIRE

, Option ID :- 138,

The jurisdiction of the Supreme Court / A6SIE
Ul Bl 2RYRIB
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, Option ID :- 139,

Response Sheet

The roles of the President and Prime Minister /
QUFPAT 6 Quligeigl= @?‘m

, Option ID :- 140,

Answer Given by Candidate:-

The states and territories are specified in the First

Schedule / 92191 2AGE16R URY @ AIGLD oas
SoldIas

, Option ID : -138
Correct Answer :-

The states and territories are specified in the First

Schedule / g2I¢1 29<S160 QURY B 2iFlgRe Rag
FOUIDE

Option ID :- 138

Section : Section II, Q15_SS_S10_PM112

Question ID:- 40

How is crop waste utilized in the integrated organic farming system?
dfiRe 6659 98 QUSLIca IR ‘E‘ﬁ%‘%‘ﬁ AU YLD FRUL?

Options:-

It is burned / 4R1g @IF G2
, Option ID :- 157,

It is discarded / 9919 6€PIT@ CEILIg
, Option ID :- 158,

It is used to create compost / 92| FEFHE G2REG
QUTLY Sl

, Option ID :- 159,
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It is sent to landfills / 9L1g AUIGTPRG A0Ia SR
, Option ID :- 160,
Answer Given by Candidate:-
It is sent to landfills / 98Ig MYIETRY A0IR T2
, Option ID : -160
Correct Answer :-

It is used to create compost / 92| F6SHE CRTEDR
QULLE @Ol

Option ID :- 159

Section : Section II, Q07_SS_S10_PM112
Question ID:- 32

What was the political outcome of the 1977 elections following the controversial
amendments?

IQIC1R Lo6ARIE 6D 1977 RIS DIREHER PRICPR 26 lmil?

Options:-

Congress was re-elected / §°6514 a9Io G915
eLml

, Option ID :- 125,

Janata Party was elected / 886! €F 5915¢ 62l
, Option ID :- 126,

BJP came to power / BJP R€1Q1g 2@l
, Option ID :- 127,

No significant change in government / <I9@I%16%!
G668 JASEIT 6LMIFIE

, Option ID :- 128,
Answer Given by Candidate:- Not Attempted
Correct Answer :-
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Janata Party was elected / 866] @f G956 62l
Option ID :- 126

Section : Section II, Q14_SS_S10_PM112
Question ID:- 39

What is the primary characteristic of integrated organic farming?
delae 6659 oIHa ikl s5day 947

Options:-

Reliance on chemical fertilizers / Qlgllgg e In
QUEH THAENRE!

, Option ID :- 153,

Exclusive use of synthetic pesticides / &685Q
Do'iclatl iy UL

, Option ID :- 154,

Cyclical, zero-waste procedures / @914, o)t
RIS T

, Option ID :- 155,

None of the given options / QZILIN2IF T@F G8a
CRIG 6516185 g6

, Option ID :- 156,

Answer Given by Candidate:-

None of the given options / G2QIR2SI 999 949
RIS 6FIGTT g6%

, Option ID : -156

Correct Answer :-

Cyeclical, zero-waste procedures / T914, gt
QRIS AR

Option ID :- 155
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Section : Section II, Q03_SS_S10_PM112

Question ID:- 28

What was Mahatma Gandhi's focus after the Non-Cooperation Movement ended?

JLL6LI0l 26K ING 6ol GEGT 6 F1LIE]] Dl die 6960 mi?

Options:-

|
Expanding the Congress Party's reach / @°6%l%
IRa g2Io 92I0 K9Sl

, Option ID :- 109,

Social reform work / SIFIRS 9°2I5 @Iy
, Option ID :- 110,

Establishing new political parties / g2ll QIGEHER GfF
@100
, Option ID :- 111,

Engaging in international diplomacy / 2NBHIG1L,
§oa1P6R FelET

, Option ID :- 112,

Answer Given by Candidate:-
Social reform work / €IFIRS 925 QlEy
, Option ID : -110

Correct Answer :-

Social reform work / SIFIRS 9°2i5 [l€lY
Option ID :- 110

Section : Section II, Q11_SS_S10_PM112

Question ID:- 36
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What was one of the key features of the federal system in the Indian Constitution?

R LEUFPER DGR SYILID 2IQURE YIS 6T ERY @8l 2lmi?

Options:-

Complete independence for state governments /
QURY aaqiae 94 Anes
, Option ID :- 141,

A unitary system of governance / 5% gli<a QUE!
, Option ID :- 142,

|
Cooperation between the central and state
governments / 695 (3 GlRY ARG 16T DL6HIG]

, Option ID :- 143,

None of the given options / G2ILQIREIS| T899 e
ERIG 6SIGIET g6e

, Option ID :- 144,

Answer Given by Candidate:-

None of the given options / @2lldIRC? 999G 9vq
ERIQ 6S16ET g6%

, Option ID : -144

Correct Answer :-
Cooperation between the central and state

governments / 695 B QURY ARG C1IEH A6
Option ID :- 143

Section : Section II, Q01_SCI_S10_PM112

Question ID:- 246

https://scert15sep2024rs.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=f2e6¢4b7-f401-4c4c-ac5c-3b30b096e51d&Rolino=609236D97A0A417...  65/78



9/18/24, 12:33 PM Response Sheet

Which of the following property makes crysialline solids anisotropic?

FaRgs g 6R6 94 98w 206 aedly aRcaegIas RReIg?

Options:-

Ability to flow / 99186 62915 A6
, Option ID :- 981,

Different arrangement of particles In different directions / 881§,
0965 RERIFERT B 81g Syegl

, Option ID :- 982,

Tendency to become crystalline upon heating / Di0iE 620 6%
2510 62918 998

, Option ID :- 983,

Ability to soften over a range of temperature /

TEG SIUCIEIES FRF 62RIG AT
, Option ID :- 984,
Answer Given by Candidate:- Not Attempted

Correct Answer :-
Different arrangement of particles In different directions / 881§,
Q965 FERI9Ee Bg Bg eYegl

Option ID :- 982

Section : Section II, Q07_SCI_S10_PM112

Question ID:- 252

What type of quantity is Kinetic energy’?

QEE gE0 9IS 6R% UFIBIR 2657
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Options:-

Vector /GRS
, Option ID :- 1005,

Scalar / DIRIG
, Option ID :- 1006,

Dimensional / Q8¢I&R
, Option ID :- 1007,

Unit /988
, Option ID :- 1008,
Answer Given by Candidate:- Not Attempted

Correct Answer :-
Scalar / 2IRIG

Option ID :- 1006

Section : Section II, Q14_SCI_S10_PM112
Question ID:- 259

Which of the following disease is caused by Bacteria?
GRS C1ag 656 69T @1914 FIo 9497

Options:-
Tuberculosis [ £14|
, Option ID :- 1033,

Measles | ARTR]
, Option ID :- 1034,
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Chicken Pox / @186
, Option ID :- 1035,

Polio / 691Im3
, Option ID :- 1036,

Answer Given by Candidate:-
Tuberculosis [/ £14|

, Option ID : -1033

Correct Answer :-
Tuberculosis [/ £14|

Option ID :- 1033

Section : Section II, Q03_SCI_S10_PM112

Question ID:- 248

What type of intermolecular forces holds the molecules together in polar molecular solids?

679 gFI9G 2GR OF 2I88-21986 208 aeiden 2g98g 98I0 agaNg?

Options:-

London forces / mg& &%
, Option ID :- 989,

Hydrogen bonds | B&Rls =84

, Option ID :- 990,

Dipole-dipale interactions / BIREUIR-SIRELIR U9 A
, Option ID :- 991,

lonic bonds / BiERIES €82G

, Option ID :- 992,

Answer Given by Candidate:- Not Attempted
Correct Answer :-

Dipole-dipale interactions / ¥iRedim-SiRGdIm J99a 99
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Option ID :- 991

Section : Section II, Q15_SCI_S10_PM112

Question ID:- 260

Who discovered the bacterium Bacillus anthracis responsible for anthrax disease?

2iglg 6ausl QiR ey T8 2IgiEe wIelg @9 AGels ateem?

Options:-

Louis Pasteur / [t &lislbl
, Option ID :- 1037,

Robert Koch / 996 6719
, Option ID :- 1038,

Joseph Lister | 6RIGEITF MEG!
, Option ID :- 1039,

Alexander Fleming / 2lema%ialt Sak
, Option ID :- 1040,

Answer Given by Candidate:-
Rabert Koch / 986 6819

, Option ID : -1038

Correct Answer :-
Rabert Koch / Q8% 6319

Option ID :- 1038

Section : Section II, Q02_SCI_S10_PM112

Question ID:- 247
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In a one-dimensional close packed structure, what is the coordination number of each
particle?

45-FIER §89 RIT6R QUIF 622 QIEIEE. J664R RARIG AFISg 9761l 65667

Options:-

|
, Option ID :- 985,

2
, Option ID :- 986,

3
, Option ID :- 987,

4
, Option ID :- 988,
Answer Given by Candidate:- Not Attempted

Correct Answer :-
2

Option ID :- 986

Section : Section II, Q10_SCI_S10_PM112

Question ID:- 255

Which additional layer is found outside the cell membrane in plant cells, providing
protection and support?

6REl BEES 96 9@C 671860 6718 TR SIRI60 699915 FI6R, TI9l 9ol 99° 902e gale
REQ?

Options:-

Cell membrane / 6318 SR
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, Option ID :- 1017,

Cytoplasm / Qim60gRE]
, Option ID :- 1018,

Cell wall / 6518 @&l
, Option ID :- 1019,

Nucleus / @4

, Option ID :- 1020,

Answer Given by Candidate:-
Cytoplasm / Qim6 6kt

, Option ID : -1018

Correct Answer :-

Cell wall / 621F @8

Option ID :- 1019

Section : Section II, Q13_SCI_S10_PM112

Question ID:- 258

Which mosquito acts as a carrier for the dengue virus?

6RE T4l 68T BSIgD 9128 SI9sal RIdY R6a1?

Options:-

Male Anopheles mosquito / BESI BIERIEPRE E4ll
, Option ID :- 1029,

Female Anopheles mosquito / €118 2IEGIEPME €14
, Option ID :- 1030,

https://scert15sep2024rs.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=f2e6¢4b7-f401-4c4c-ac5c-3b30b096e51d&Rolino=609236D97A0A417...  71/78



9/18/24, 12:33 PM Response Sheet

||
Female Aedes mosquito / €18 9@ ¢16]
, Option ID :- 1031,

Male Aedes masquito / 2G5l 929 ¢4l

, Option ID :- 1032,

Answer Given by Candidate:-
Female Anopheles mosquito [ €llm 2I6RIFRE €l
, Option ID : -1030

Correct Answer :-
Female Aedes mosquito / €18 9@ ¢16]

Option ID :- 1031

Section : Section II, Q04_SCI_S10_PM112

Question ID:- 249

What |s the black substance formed when copper powder is heated in the presence of
oxygen?

ARc aagfes ol QINeag o AaIdem 98 69625 aRl QCllS aa?

Options:-

Copper chloride [ @99 GRiGlTE
, Option ID :- 993,

Copper sulfate / @5 9m6LPT
, Option ID :- 994,
| |

Copper oxide / @l 250

, Option ID :- 995,

Copper dioxide / @90l SIR2gIDE

, Option ID :- 996,

Answer Given by Candidate:-
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Copper sulfate / 4% metre
, Option ID : -994

Correct Answer :-
Copper oxide / @9 &gy

Option ID :- 995

Section : Section II, Q08_SCI_S10_PM112

Question ID:- 253

Identify the similarity between figure a and b, from given options.

CEIRIRYS TRFYEIR T8 a 95° b 6T SRIRel 52F 99!

Options:-

| |
Both are Unicellular / 99, YR63191 2168
, Option ID :- 1009,

Both are prokaryotic / @82 6DIRIQ6EF 256
, Option ID :- 1010,

Both are Multicellular / 984 SE6RIS 258
, Option ID :- 1011,

None of these / J¢llRar FldQ 6REE E@ﬂ?ﬁh
, Option ID :- 1012,

Answer Given by Candidate:-
Both are Unicellular / 99€, YS63191 2168
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, Option ID : -1009
Correct Answer :-
Both are Unicellular / Bl 956181 2T
Option ID :- 1009

Section : Section II, Q09_SCI_S10_PM112

Question ID:- 254

Which of the following cell shapes 1s described as being pointed at both ends?
GRS U 676 6RIE 2IET aew Qs el BI96s 2dal Rolang?

Options:-

Spherical / 6SIMIFIT
, Option ID :- 1013,

Spindle-shaped / 4/ 21§84
, Option ID :- 1014,

Branched / sllsl-d%
, Option ID :- 1015,

Elongated / mi¥
, Option ID :- 1016,

Answer Given by Candidate:-
Elongated / m¥l|

, Option ID : -1016

Correct Answer :-
Spindle-shaped / 4/ 21§64

Option ID :- 1014

Section : Section II, Q05_SCI_S10_PM112

Question ID:- 250
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Which of the following is NOT the exothermic reaction?
FORYE PRI 686G SEGITe gEEa §6e?

Options:-

||
Respiration in Humans / agaueig&0iss S19g el
, Option ID :- 997,

Decompasition of vegetable matter into compost / E]ﬁ‘i]@‘ﬁ‘l@
G1€ 62129 102lg FEAIEES TRIEE F5T

, Option ID :- 998,

Burning of Natural Gas / I8/ oIg 854S
, Option ID :- 999,

Bread baking / QIGi95 G213 624

, Option ID :- 1000,

Answer Given by Candidate:-
Respiration in Humans/ qgausie&0iss 912ge

, Option ID : -997

Correct Answer :-

Bread baking / QIuiplt 02t 629

Option ID :- 1000

Section : Section II, Q06_SCI_S10_PM112

Question ID:- 251
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In which scenario is the work done by a force zero?

6qe 9SdEss gaY of Tinl FlE eTlmRIg?

Options:-

A block sliding on rough surface / S19€| G868 98 9@ %@Eli‘aﬁ
, Option ID :- 1001,

A cart moving forward with a horlzontal force applied / 655
o O6RIS 95 29T 9gYsl 99 99

, Option ID :- 1002,

Moaaon orbiting the Earth / 9291 987 952/91 98
, Option ID :- 1003,

Lifting a box vertically against gravity / alaliads @@@sa g
QIgg Gl A0IRGI

, Option ID :- 1004,

Answer Given by Candidate:-
Moon orbiting the Earth / €2)91 99891 85231 98

, Option ID : -1003

Correct Answer :-
Maan orbiting the Earth / 92/91 997 95291 98

Option ID :- 1003

Section : Section II, Q11_SCI_S10_PM112

Question ID:- 256
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What is the role of root hairs in the root sysiem®?

FlR gaIMER OF 6RIFS GES |'617

Options:-

To provide structural support only / 6997 2181918 991L8 99le
@aq|

, Option ID :- 1021,

To absorb water and minerals from the soil / SS9 QI8 6 3168
geid 69194 afal

, Option ID :- 1022,

To protect the root cap only / 639 ¢ RUIg 90ES 89
, Option ID :- 1023,

To facilitate photosynthesis / 2l6mlE 9°65 WGl %_@MI @aal
, Option ID :- 1024,

Answer Given by Candidate:-
To absorb water and minerals from the soil / QI8 218l @ S18g
A612 68194 K9S

, Option ID : -1022

Correct Answer :-
To absorb water and minerals from the sail / FI5Q 218 B S8R
aeid eI8d /tel

Option ID :- 1022

Section : Section II, Q12_SCI_S10_PM112

Question ID:- 257
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Which type of venation is characterized by veins running parallel to each other within
the leaf lamina?

ag mIFie) fi86n 99996 SFIRIR MT6S 1RSIl J4l 9IS 676 gRIa daIGRuld
S99 FAUarg?

Options:-

Reticulate venation / 8IS do186YIg
, Option ID :- 1025,

Parallel venation / 9R128R SUgaYd
, Option ID :- 1026,

Net-like venation / Gif 98 da1EeUlg
, Option ID :- 1027,

Circular venation / S8IRIS SRUFRUIE
, Option ID :- 1028,
Answer Given by Candidate:- Not Attempted

Correct Answer :-
Parallel venation / @EISRUF SaISRYIE

Option ID :- 1026
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